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QUESTION 1

Which Ansible module would be used to obtain basic information about a Junos device?
A. juniper_junos_facts

B. juniper_junos_info

C. juniper_junos_rpc

D. juniper_junos_config

Correct Answer: A

Reference: https://docs.ansible.com/ansible/latest/collections/junipernetworks/junos/ junos_facts_module.html

QUESTION 2

Click the Exhibit button.

>>> print(hardware_count)

{MX960\\:10, 'SRX300\": 22, "QFX5100\\": 4}

Referring to the exhibit, what is the correct method to retrieve the value associated only with "MX960"?
A. hardware_count.keys()

B. hardware_count.values()

C. hardware_count[0]

D. hardware_count["MX960"]

Correct Answer: A

QUESTION 3

What is the outcome of the Python a == b operator?

A. The variables will be added together

B. The variables are compared to determine if they have the same value

C. The variables are compared to determine if they have different data types
D. The variables will be subtracted from each other

Correct Answer: B
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QUESTION 4

Which two Python packages use NETCONF to interact with Junos devices? (Choose two.)
A. numpy

B. jsnapy

C. junos-eznc

D. pyyaml|

Correct Answer: BC

QUESTION 5
Click the Exhibit button.

<rpc-reply xmlns:junos="http://xml.juniper.net/junos/20.1R0/junos">
<software-information>
<host-name>router</host-name>
<product-mod=1>mx240</product-model>
<product-nams>mx240</product-name>
<junos-version>20.1R1.10</junos-version>
<package-information>
<name>os—kernel</name>
<comment>JUNOS OS Kernel 64-bit [20200219.£fbl20e7 builder stable 11]</comment>
</package-information>
<package-information>
<name>os—-1ibs</name>
<comment>JUNOS 0OS libs [20200219.fb120e?_builder_stable_ll]</c0mment>
</package-information>
<package-information>
<name>os-runtime</name>
<comment>JUNOS ©OS runtime [20200219.fblZOe?_builder_stable_llj</comment>

</software—information>
</rpc-reply>

Which command produces the output shown in the exhibit?
A. user@router> show version | display xml

B. user@router# show version | display xml

C. user@router> show version | display json

D. user@router> show version | display xml rpc

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/junos/topics/task/operational/junos-xml-protocolrpcs-and-xml-
mapping.html
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